OEM BU

SHING fq&

INTAKE SYSTEMS FOR VEHICLES LISTED ARE 50 STATE
LEGAL. SEE AIRAID.COM FOR CARB STATUS ON EACH

PART FOR A SPECFIC VEHICLE.

Full color instructions can be viewed on our web site at Airaid.com. If you need
any assistance please call 1-800-858-3333 to speak with a representative in our Customer
Service Center before returning the product.

A e Al

Installation Instructions

For Part Numbers:
510-307
511-307
512-307
513-307

700-474 Airaid Oiled Media Filter
701-474 SynthaMax Dry Media Filter - Red
702-474 SynthaMax Dry Media Filter - Black
703-474 SynthaMax Dry Media Filter - Blue

2013-16 Scion FR-S and Subaru BRZ

2017
2.0L Boxer 4

Toyota 86 and Subaru BRZ

Component Identification

AIR-700/701/702/703-474F
AIR-KIT307CAB-1
AIR-KIT307
AIR-KIT307MAFADA
AIR-KITHUMPHS34
AIR-KITRDCRO5
AIR-KIT307LIDC-1
AIR-KIT307G
AIR-KITGRMT09

. AIR-KIT307BC

. AIR-KIT15DHC3050BO

. AIR-KITO9FWKO019BZ

. AIR-KIT15BHC3019BO

. 08343

. AIR-KIT20WFCZ060

. 1228599

. AIR-KIT10SHCP

. AIR-KITSPACERO1

. 08577

. 08610

. 08110FK

. AIR-KITORING127

. AIR-KIT307CAPC

. AIR-KITFITTING31

. 08460

. AIR-KITPLUGO02

. AIR-KITSTICKERS3

Airaid Premium Filter
Cold Air Box

Intake Tube

Filter Adapter

Hump Hose

Reducer

Air Box Lid

Lid Gasket

MAF Harness Grommet
Air Box Bracket

¥4-20 x 1/2” Button Head Cap Screw

1/4” Flat Washer
10-24Button Head Cap Screw
#10 Washer

M6 Flange Nut

M6 CAB Mount

8-32 Socket Head Cap Screw
Spacer

#44 Hose Clamp

# 52 Hose Clamp

1/4" NPT x 1/2" Barb Elbow
O Ring

Resonator Tube Plug

Brass Plug

#24 Clamp

Firewall Grommet-Not Shown
Airaid Decal

— e e e G = RO R = N B U B e e e e e e

A.

1. Disconnect The Negative Battery Terminal!

Loosen the clamps on the throttle body and the airbox
outlet. A. Loosen the resonator tube clamp and discon-
nect it from the intake. B. Compress the spring clamp
on the crank case breather line and disconnect it. Re-
move the intake tube from the vehicle.

Spacer

2. Disconnect the Mass Air Flow sensor, or MAF, in the
airbox. Remove the three 6mm bolts securing the airbox
assembly and remove it from the vehicle.

3. Transfer the Mass Air Flow sensor into the Filter
Adapter and secure using the two 8-32 Socket Head

Screws and Spacers .

4. Install the Filter Adapter into the Cold Air Box as
shown using the 1/4-20 Button Head Screws and 1/4”
Flat Washers .

5. Install the CAB Mount into the airbox bracket on the

inner fender. Hand tight is sufficient.

6. Mount the Airbox Bracket as shown, using one 1/4-20
Button Head Screw and a 1/4” Flat Washer. Transfer
one factory airbox mounting grommet and steel sleeve
from step 3 into the Airbox Bracket.

NEW CLIP POSITION

ORIGINAL CLIP POSITION

7. Slide the CAB Mount stud through the hole in the
Airbox bottom and secure it using the M6 Flange Nut
and a 1/4” Flat washer. Reuse one 6mm airbox bolt
from step 3 to join the Airbox Bracket to the core sup-
port.

8. Using a pair of diagonal cutters, or similar, split the
Harness Grommet.

9. Route the MAF harness into the Airbox and reconnect
the sensor inside. Seal off the access port with the
Grommet from step 9. Relocate the plastic clip on the
wire harness 1 1/4” back to take up any slack that might
allow contact with the accessory belt.




10. Place the Hump Hose and two #52 Clamps onto the
Filter Adapter and the Reducer with one #52 and one
#44 Clamp on the throttle body. Leave the clamps loose
for now.

11. Install the Barbed Fitting into the Intake Tube and
apply the Airaid Decal , as shown.

12. Install the Intake Tube and tighten all of the clamps.
Connect the crank case breather to the Barbed Fitting
and secure it using the OEM spring clamp. Insert the
resonator into the Intake Tube and tighten the clamp.

13. Install the Airaid Premium Filter onto the Filter
Adapter.

14. Carefully install the Gasket onto the Air Box Lid .

15. Install the Air Box Lid using the 10-24 Button Head
Screws and the #10 Washers.

NOTE: Airaid recommends the use of LOCTITE®
242® Medium Strength Thread locker or equivalent on
the Air Box Lid hardware.

Reconnect the Battery.

\O Ring, here.

Install Option One: Resonator Delete. Loosen the
resonator tube clamp and disconnect it from the Intake.
Remove the two 6mm bolts in the diaphragm housing and
pull the sound tube out of the fire wall. Remove the entire
resonator as an assembly.

Apply a thread sealer to the threads of the Brass plug and
insert it into the Resonator Tube Plug. Slide the O Ring
onto the plug and into the groove. Install the Plug
Assembly into the Intake tube port and secure using the
#24 Clamp. It should be noted that the Aluminum Plug is
designed to accept many 1/16 NPT N20O foggers.

Place the Firewall Grommet into the bulkhead. NOTE:
The resonator Delete option has no positive or negative
effect on performance.

Install Option Two: OEM air inlet removal. While
not necessary, maximum power is achieved by removing
the OEM inlet from the vehicle.

With help from an assistant. The inlet can be removed
without removing the entire bumper cover. Simply
remove all of the topside fasteners and pull back on the
cover. Have an assistant remove the two 6mm bolts in
the tube and remove.

Double check your work !

Make sure there is no foreign material in the
intake path. Make sure all clamps, hoses,
bolts, and screws are tight. Double check the
hood clearance!

Thank you for purchasing the Airaid Intake System. Contact Airaid @ (800) 498-6951 8:00 AM - 5:00 PM MST weekdays for questions regarding fit or instructions
that are not clear to you. Your Airaid Intake System was carefully inspected and packaged. Check that no parts are missing, or were damaged during shipping. If any parts are
missing, contact Airaid. The air filter element is protected from direct exposure to water and debris; care should be taken not to drive through deep water. WATER INGESTION
IS THE DRIVERS RESPONSIBILITY! The air filter is reusable and should be cleaned periodically.

700-474 Airaid Oiled Media
702-474 Airaid SynthaMax Dry Media - Black

For your Oiled media filter we
suggest using the AIRAID
Filter Tune-Up Kit.

P/N 790-551 Aerosol Spray
P/N 790-550 Squeeze Spray

INTAKE SYSTEMS FOR VEHICLES LISTED ARE 50 STATE
LEGAL. SEE AIRAID.COM FOR CARB STATUS ON EACH

PART FOR A SPECFIC VEHICLE.

FILTER IDENTIFICATION

Synthamax Air Filters do not require oil.

701-474 Airaid SynthaMax Dry Media - Red
703-474 Airaid SynthaMax Dry Media - Blue

Service air filter as

needed by cleaning with common non-petroleum all-purpose

reinstall.

household cleaner and water. Simple Green®, Formula 409® or
equivalent works great. Apply cleaner to outside of air filter and
allow to soak. Then flush filter clean from the inside out with a
garden hose and repeat steps if necessary.
pressure water or air to clean filter. Allow filter to air dry and

Do not apply high

AIR-IS1307E

Airaid. 1455 Citrus St., P.O. Box 1329, Riverside, CA. 92502 1-800-498-6951 AiraidInfo@airaid.com www.airaid.com

11/29/2021




